AP Calculus BC Name: ¥
Unit 10 — Day 2 — Assignment f S

#’s 1 —3: Find the Maclaurin polynomial of degree n for the function.
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#’s 4 — 6: Find the nth Taylor polynomial centered at ¢.
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f(x)=x—5, n=4, ¢ =2 fx)= VYx, n=3, c=8
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#’s 7—8: Use Taylor’s Theorem to obtain an upper bound for the error of the
approximation. Then calculate the exact value of the error.
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#’s 9 —10: Determine the degree of the Maclaurin polynomial required for the error in the
approximation of the function at the indicated value of x to be less than 0.001.
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sin(0.3)
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e 0.6
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